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Swpblwl Gpnywd wwl

Pyniptinw)hb dwiuutph gnpéwnwywl nwuwlwpqiwb wyn pynid’
Snnh Pw- | bune pwdhGGtph, fudptiph L nwubph, hGswbu Gwb pjnLpbunwhG DGnwshG
NN oha | dp 6wfuubiph nGwnbuwghnwywb nwuwlwpqiwb hnnywdébtnh (un7 it 8? qunswiwt | nGnwshG
wbdwbnuiGbpp : ; pjnLob pjnLok
1 2 3 5 6 A 8
CLAIUGELE dUuUeP
2000 X X (1ninn2100+w1nn2200+w1nn2300+wnnn2400+wnnn2500+wnnn 2600+ 1629582.20 |756912.20 | 872670.00
1nnn2700+wnnn2800+wninn2900+wnnn3000+wnnn3100)
cLAl3ULNEP PLNE3@P IULNPUSPL
2100 | 01 | o ounu3nrE3nruLLLN 291937.7 | 168778.0 | 123159.7
(nnn2110+wnn2120+wnn2130+wninn2140+wninn2150+wnnn2160+wnnn2170+wn
nn2180)
wyn pynty”
OnkGunhn b gnpdwnpn dwpohlGlbp, whnwlwl Gwrwdwpned,
Bhowbuwlwl b hwplwpynigbunwyhl hwpwpbpnipnGibn,
2110| 01 1 wpnwphl hupwpbpngmien 225169.0 128099.0 | 97070.0
= - = o 1 3 .
a0l o | e | DD EanORhn BunupEob e G An 225169.0 | 128099.0 | 97070.0
wn pUntd dwhuubiph epéwbnidp® puwn pynupbinwihG whuukiph
nlwnbuwghnwlwb nwuwlwpgiwb hnnyuwébhph
UzluwwnnnGbiph wzfuwwnwywndtp L hwybiwdswnhbn 101,347.8 | 101,347.8 X
Muwpqlwwnpnuibbip npwdwlwb fupwiuntuntdGbp L hwnny
WSRGER 7,896.2 7,896.2
Lwnwpwghwll nwunwlwh L wenwywh Swnwnnltph 0.0 0.0
wwnpglwwnpnid : :
EGbpgbunhly dwnwjnipniGhbp 5,500.0 5,500.0 X
UnintlGw) swnwynipjntGGbp 700.0 700.0 X
Ywwh dwnwynipjniGGbp 1,676.0 1,676.0 X
Uwwhnwgpwlywb éwhuubp 100.0 100.0
LbinphG gnpénLnnLiltp 100.0 100.0 X
Upunwuwhiwbjwh gnpdninnialbp 0.0 0.0
dwpswlwh swnwnipyntGltbp 150.0 150.0 X
Jwiwlwpgswihl swnwynipyntGGbp 1,981.0 1,981.0 X
Stnbywwnwywb SwnwynipjntbGbip 176.0 176.0 X
LbpYuwjwgnigswlwh dwiuubp 200.0 200.0 X
Chnhwlnip plnyph wy) SwnwynipjnilGbp 592.0 592.0
Uwulwghwnwlyw dwnrwynipintGGbp 100.0 100.0
Chlptiph L Ywnnyglbph pGpwghy Gnpngnid L wwhwwnid 930.0 930.0 X
UtiptiGwGtph L uwppwdnpnidGbph pGpwghly Gnpngnid L
PG 1,350.0 1,350.0 X
Qnuwubbjuywyhb Gnupbp L hwgniuwn 2,010.0 2,010.0 X
SpwluwnpunughG Gynipbip 2,350.0 2,350.0 X
UtGgwnuwjhb L hwlGpwhG uGGnh Gnipkp 400.0 400.0 X
Swunncy bywwnwlwihl Unwptn 500.0 500.0 X
Uy hwpytp 0.0 0.0
Muwpunwnhp ySwnpbp 40.0 40.0 X
Chbptiph L 2hGnipynLGhbph Ywnnignid 0
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Fynobinnw)h0 dwluutiph gnpéwrwlwl nwuwywpgiwh

wjn pyntd’
Pw- | lume pwdhGGtnph, fudpbph L nwubph, hGswbu Gwb pjnupbiniwghG
S:lfrhh dhi | dp T owfuutiph nbnbuwghwnwlwl nwuwywnpquwb hnnjwdébtph E(ﬁn7wf:%g qunswiwt | $nGnwhG
wlywhnudGlpp pjniok pjnLok
d 2 3 4 5 6 7 8
Spwluwnpunwjhu uwppwynpnLdutp 0.0 X 0.0
dwpswywh uwppwdnpnidGbp 7,900.0 X 7,900.0
Lwfuwqéwhbnwagnunuwlywh dwiuukp 0.0 X 0
2130| 01 3 0 |Llnhwhnip plnyph SwewynipyniGobn 6,072.00 6072 0
nphg’ 0.0
21311 o1 3 1 Uhuwinwlwquh /Gunpbph/ gény pGnhwbnip pGnigh 5,769.60 5769.6 0
wjn pynid dwluubiph ypdwlnidp’ puin pyniobunwghl dwiuutiph
UzfuwwinnnGbph wphuwnwywnpdbp b hwybwdSwnGn 4,907.60 4907.6
EGEpgbwhy dwrwjnipniGhtp 225.0 225.0
UnunLuw] swnwjnLpintlltn 10.0 10.0
Uwuwh SwnwjnipnLGGbp 73.0 73.0
Upwnwagbpwntuswywl swhuutn 420.0 420.0
Uwulwghunwywl swnwjnLpnultn 54.0 54.0
UtiptilwObph L uwppwdnpnidbbph pGpwghl Gnpngned L 60.0 60.0
gnELwlwu whwnypltn 20.0 20.0
2133 01 3 3 |CGnhwlnip plnyph wy| wnwjnipjniGGEp 302.4 3024 0
wyn pynid dwiuubiph ypédwhndp® punn pyniobinuwghl dwiuutiph
nlwnbuwghnwlwb nuwuwlwpgiwh hnnywébhph 0.0
hwiwywpgswjht swrwjnipjntGlbp 3024 302.4
2i0| o1 | & | o |5BEnEFImIES hulnuhl ouasymesmbltn (it b | o 6067 | 34607.0 | 26089.65
nphg’
2161 o1 6 | 71 Chnhwlnip pGniyph hwGpwihG SwnwynipntGGbp (wy nwubphG 60,696.65 34607.0 26089 7
wwnywbnn)

wyn pyYnid Swhuubiph pdwhnudp” pun pjnigbiviwghG wiuutiph
nlnbuwghnwlwl nwuwlywpgiwb hnndwéhbph

Pwlywjhl Swnwjnipjntultp 0.0 0
Swiwlywpgswihb dwnwjnipntGbbp 0.0
Stintywwndwlywh swewjnipjntGGbp 1,185.0 1,185.0 X
bwnwywpswywh swnwynipyniGhbn 0.0 X
Lhnhwinip pGnyph wy) SwownipniGGbnp 8,480.0 8,480.0
Uwulwghnwlwh dwnwjnipjniGGbp 3,300.0 3,300.0 X
SwwnnLy bywunwywihl unwetn 1,900.0 1,900.0
Unitpuhnhwitp ng-ph0wbuwywlb wbwnwlywh
YwqiwlbpwnLpintGGbphG 11,392.4 11,3924 X
LdhpwunynepyniGGbp wy) whniyp shbnwwlnnn X
bwgiwbbpwnipintGGEphG e 20,0
UjL hwnltip 50.0 50.0 X
TNwpuwnhp YSwnlbp 8,079.6 8,079.6 X
Hwnzwywl uwppwynpnidutn 26,089.65 X 26089.65
SULSGUULUL IUrUrGPNHE@3NELLEN

2400 o . ¢ (1nnn2410+w1nn2420+w1nn2430+1nn2440+nnn2450+wnnn2460+nnn 2470+ 126,368.7 194961 571 190072
wyn pyntd’

2420 o4 2 0 Yninuwinlunbunipyncl, whnwewihl nbnbunip/ndd, 1,361.5 13615 0
dybnpunipinil L npunpnnipintG
nphg’

2421 04 2 1 |9ninwunbGunbunipinih : 1.361.5 1361.5 0
wyn pUntd Swiuubph ypdwhnidp® puin pyniobnuwghl dwiuutkiph
wnlwnbuwaghwnwlwl nwuwywnadwb hnnywdébhnh
UzfuwwnnnGbph wpluwnwywndébp L hwybpwydwnpbbp 1 B 11116
Cunhwuntp punyph wj) Swnwjnipjniulbn 250.0 250
Uwulwghwnwlw dwnwjnipjntGGbp 0.0 0.0 X

2430 04 3 0 |dwrbipp b tGbpgbuipyw 1,100.0 100 1000
nphg’

2432| 04 3 2 [bwdpwiptnp L plwlwl quq 1,100.0 100.0 1,000.0
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PjnLpbunw)hb dwfuutiph gnpéwnwlwl nwuwywpgiwd

wyn pynty’
Pw- | lunt pwdhGGtph, fudptiph L nwutiph, hGswbu Gwb pynLptitniwhG
S:lr,hh ana | dp Yot Sdwfuubiph ninbuwgqhnwywh nwuwlwnqiwh hnnywaébhph D(i“;“f:%? qwnswywa | nGnwjht
wiywbnLiGepp ' ; pjnLok pjniLok
1 2 3 4 5 6 7 8
wyn pYntd Swhuubiph yepéwhnidp’ puwn pynuptitnwghG swhuukiph
nlunbuwghnwlwl nwuwlwpgiwa hnnwéatph
Mwpuwnhp Jéwnputn 100.0 100.0
GhOptiph L 2hGnupjniGGbph Ywnnignid 0.0 X
Lwhuwqéwhbwnwagnunwywh dwiuutp 1,000.0 X 1000.0
2450 04 5 o |Spwluwynpun 123,907.2 9000 114907.2
nnha
2451 04 | 5 | 1 [SwlwwwphuyhG npwluynpn ® wn pdnd 123,907.2 | 9000.0 | 114907.2
Ctiliptinh b 2hGnpynLGGbph pGpwghy Ytipwlnpngnid 9,000.0 9000.0
Hwinpwywl uwnpwynpnLdltn 4,500.0 4500.0
Ctlptiph L hGnipynLllbinh Ywwhwnw| Yepwinpngnud 110,407.2 X 110,407.2
Lwhuwqéwhbunwgnunwlwh dwiuubp 0.0 0.0
GMraULU Ur2U4U3rk MUESMULNFB3NFL
s e ¢ . (1nnn2510+w1nn2520+w1nnn2530+wnnn2540+wnnn2550+1nnn2560) 86,0137 i d
w)n pyncd’
2510| 05 1 0 |Unpwhwlnid nnhg 74,513.7 745137 0
2511] 05 1 1 jUnpwhwlniyd 74.513.7 74513.7 0.0
wyn pUnLd Swhuubph YEnéwhniip puwn pjniobitnwihG Gwuubiph
nlunbuwghnwlwl nwuwlwpgiwG hnnwéhhnh
Uzfuwwinnnlbph wphuwwnwywnpdbp b hwybwdswnbp 6,347.0 6,347.0 X
YninLbw) SwnwynipjntGGtp 68,066.7 68,066.7 X
Swunniy bywnwywihu wy Uniptn 100.0 100.0
UnLpuhnhw 0.0 0.0
Cpowlw dhpwduyph wwpunywlnipnil (wjy nuubphl
2560| 05 6 0 suunnlyting) 11,500.0 11500 0
: : nnhg’
2561] 05 | 6 | ¢ [Onewlwdhouwinh uuznuwGnpinih (wy nwubnhG 11,500.0 | 11,500.0 0
i sywinbwlinn)
wyn pynid Swhuubiph Jepéwlnudp’ pun pynugbitnwhG whuubph
nGunbuwghnwlwl nwuwlwpgiwh hnnwesbbph
UnintGw| SwnwjnipyntGGtp 11.,500.0 11,500.0 X
Untpuhnhuw 0.0 0.0 X
PLULUNULUSPL ChLUPUPNER®3NIL BY UNUNFLUL
2600 | 06 0 0 ounusnr@3nru 329,388.5 35000.0 | 294388.5
(1nnn2610+w1nn2620+wnnn2630+wnnn2640+wnnn2650+1nnn2660)
wyn pyncd”
2610| 06 1 0 |Phwlhwpwluyhl zhGwpwpnipnia 36,334.5 | 18,000.0 | 18,334.5
nnhg-
2611 06 | 1 | 1 [POwhwpwGuwihG shGwpwpnipnt 36,334.45 | 18000.0 | 18334.45
wyn pyntd dwiuutiph YEpéwinidp’ pun pynigbniwhG dwhuukph
nlwnbuwghnwywl nwuwlwpgiwh hnnweébtph
CEUp 2hUnipjnLllibph pupwghy UnpngnLy 18,000.0 18000.0
Ciliptiph L 2hGnipyniGGtiph Ywwhww] Yepwbnpngnid 17,014.45 17,014.45
Lwhuwqéwhbunwgnunwlwh dwhuubip 1,320.0 1,320.0
2630( 06 3 0 | 2pwiwwnwlwpwpno 51,803.0 0 51803.0
nphg’
2631 06 3 1 |Rpuwiwnwlwpwpntd 51,803.0 0 51803
wjn pyYntd dwiuubiph ypéwlnidp’ puwn pyniobinwhl dwhuukph
ninbuwghnwhwh nwuwlwpgiwh hnpywéGhph
Chliptiph L 2hGnipniGhtinh Ywuwhwwy Ypwbnpngned 51,803.0 X 51,803.0
Lwfuwqéwhbnwgnunuwywh swhubp 0.0 X 0.0
2640 06 4 0 |@nnnglbiph (niuwynpnio 241,251.0 17000.0 | 224251.0
nphg’
2641| 06 4 1 |©nnngGbiph |ntuwynpnid 2412510 | 17000.0 | 224251.0




PjnLpbunnwyhG dwiuubiph gnpéwnwlwh nwuwywpqoiwh

wjn pyncd’
Pw- | tune pwdhGGbph, fudpbiph b nwubiph, hGswbu Gwl pjnipbnwghG
S:lfrhh dgha | dp T Swiuubph winbuwqhnwywh nwuwywnpgiwh hnnywéGhph D(gr};uf:[g qunswlwt | $nGnwyhG
whywabndGlpp ; g pjniok pjniok
1 2 3 4 5 6 7 8
wjn pyntd dwhuubiph ybpéwlnidp’ puwn pyniobinwghG dwhuukph
nlnbuwghnwlwl nwuwywpgiwa hnndwébbph
EGEpgbinhy swnwynipjniGGbp 12,000.0 12,000.0 X
Chiliptiph L Ywrnyglliph plpwghy Gnpngnul b wwhwwlntd 5,000.0 5,000.0 X
Muwnpuwnhp ydwputn
Ciliptiph L 2hGnipynLGGlph Ywnnignd 221,251.0 221251.0
dwnpwlywl uwppwynpnidutin 3,000.0 X 3,000.0
Lwhiwqéwhbnwgnunuwlwh dwiuukp 0.0 0.0
3ULAhUS, UCULN3@ 64 uPnu
0 e ? v (1nnn2810+wnn2820+wnnn2830+wnnn2840+wnn2850+wnn2860) 32,984.2 31778.6 1205.6
wjn pynty”
2810| 08 1 0 |Fwlbguinp b uynpunh SwrwynipyniGGtp 3,645.6 2940.0 705.6
nnha
2811| 08 1 | 1 [BwGquuh L uynpinh wnwnipjniGbn 3,645.60 2940.0 705.60
wjn pUntd dwiuubiph péwlnidp’ puwn pjnipbiinwhG dwhuubiph
nlnbuwghunwlywl nwuwywpgiw hnndwsbtph
Cliliptiph L YwnnygGtiph pGpwghy Gnpngntl b wwhwwGnid 940.0 940.0 X
Iwwnncy GuwnwlwyhG wy Gnipbp 0.0 0
Uppwlw dawyniypwihl L uwynpunwihG GuwuwnGhp pjnigbihg 1,000.0 1,000.0
LyhpwwndnipniGbbp wy) pwhnijp shtnwuwlnnn
YJwqiwybpwnipntGGephG 1.000.0 L
TMwpuwnhp ydwnplbip 0.0 0.0
Gblp 2hunLpjnlultnh Yunnignid 0.00 X 0.00
Ctilptiph L 2hGnipynibGbph Ywwhww) Jepwinpngnid 0.0 0.0
Lwfuwqéwhbnwgnunwlwb swhuubp 705.6 X 705.6
2820 08 2 0 |Vewlnipuyhl SwnwynipyniGobn 27,338.6 26838.6 500.0
npha
2821| 08 2 1 |pwnwpwGbp 13,438.6 12938.6 500.0
i wjn pUntd dwiuubiph depéwlnidp’ puwn pjnigbiinwhG dwhuutph
nlnbuwghnwlywl nwuwywpgiwa hnndwébtph
Canhwhnip pGnyph wy SwnwjnipjntGibp 0.0 X
UntpuhnhwGbip ng-phGwluwlwh whnwlwh
Yuwquwybpunie nGGERAG 12,938.6 12,938.6 X
Ng UnLpwwl hhuuwywl Uhongltn 500
2824| 08 2 4 Ui dowlnipuyht YuqdwytpunipjniGhtn 13,900.0 13900.0 0
wjn pUntd swiuubiph Ypdwlnudp’ puwn pynigbitnwghG swiuutiph
nlnbuwghnwlwl nwuwywpgiwh hnndwesthph
CGnhwGnip plnuyph wy) wnwjnipnillbp 10,140.0 10140.0
fupwhunLunud awynyeh puwgwywnnid 0.0 0.0
Jwwnniy GuwwnwywihG wyy Gnepbip 3,760.0 3760.0
...................................................... 0.0
2843 08 4 3 |Ypnlwlwl L hwuwpwlulw wyy SwnwjntpjntGbbp 2,000.0 2000 0
wjn pUntd Swiuubiph epéwlnidp’ puwn pynipbnwhG dwhuutph 0.0
nlnbuwghnwlwl nwuwlwngiwh hnnywébtph '
LyhpwuindnepynilGlbp wy) pwhnuyp shbnwuwlnnn
YJwqgiwybpwnipjnLGGephG ’ 2,000.0 2000
UrENHA3NIL
2900 | 09 0 0 | (nnn2910+11nN2920+1nN2930+1NN2940+1nN2950+nnn2960+nn2970+wn | 727,724.7 | 389715.6 | 338009.1
nn2980)
wjn pyntd”
20t0| 09 | 1 | o |vemwnupnguluds b nwppwlwl plnhutnn ynpngnd 468,076.5 | 272825.7 | 195250.8
nphg’
2911| 09 1 1 Jbwhiwnwpngwywh Yppnipjntl 468,076.5 | 272825.7 | 195250.8
Jwin pUntd dwiuutiph Ybpdwhniip’ puwn pjnipbinwhG dwhuubiph




RynipbunwyhG dwhuutiph gnpéwrwywh nwuwlywnqiwd

wyn pynty’
Snnp Puw- | tune PwdhGGbph, fudptiph L nwubph, hGswbu Gwl pjnupbnwhG DGNWSkG
Nrrh oghl | dp Swfuubph nlnbuwghnwywl nwuwywnpgiwh hnnywéGhph (un7uj+u 8? qupswlwt | $nGwyht
whywabnaGepp i ‘ pjniok pjniok
1 2 3 5 6 7 8
Untpuhnhwitp ng-phiwluwlwh whnwlwa
YwadwybnwnieniGGbphG 272,825.7 | 272.825.7 X
Chlptiph L 2hGnipyniGhbph Ywwhww| JEpwinpngntd 187 027.7 X 187.027.7
dwnswywl uwnppwynpnedutnp 55250 X 55250
Lwfuwqéwhbinwgnunwlwh dwhuubip 2.698.1 X 2.698.1
2950 09 5 Cuwn dwlwpnwlbbph snwuwhwpgdnng bppnipiniG 117,194.9 | 116889.9 | 305.0
nphg’
2951] 09 | 5 jUnnuwnupngwlwl nwuwnhwpwynipjntl 117,194.9 | 116889.9 | 305.0
wjn pyncd dwiuubiph péwiniip” puwn pynigtinuhG swtuutph
nlnbuwghnwlwl nwuwywngiwh hnndweébbph
UntpuhnhwGbip ng-phiwbuwlwh whnwlwa 116,889.9 | 116,889.9 X
dwnswywl uwppwynpnidutn 305.0 X 305.0
2980 09 8 Yppnipyncl (wyy nwubphl supuiniuwing) 142,453.3 0 142453.3
nnha’
2981 osu 8 Ynpntpjntl (wy| nuubphl swwinlwinn) 142,453.3 0.0 142453.3
wjn pUntd Swiuubiph epéwhnidp® pun pynipbinwhG dwhuutph 0.0
ninbuwghnwlhwi nwuwlwpgqiwh hnnywéhbph '
dwnswywl uwppwynpnidutn 550.0 X 550.0
Uppwlwl dawynipwihl L uynpunwhG GuwuwnGbp pjnipbihg 0.0 0.0
Chliptiph L 2hGnipniGltinh Ywwhwwy Yepwbnpngntd 141,903.3 X 141903.3
Lwuwqswhbnwgnunuwywh swhuubp 0.0 X 0.0
unshruLULUL MUSSMULNH@3NEL
3000 [ 10 0 (11nn3010+1nn3020+1n1nn3030+1nn3040+1nn3050+1nn3060+nnn3070+in | 20,400.0 20400.0 0
nn3080+wnnn3090)
wyn pyntd”
Unghwywlwl hunntly wpmnlGnipincGG6p (wy nwubnhG
70| 10 | 7 e 20,400.0 | 20400.0 0
nnhg
3071| 10 . Unghwiwlwh hwwnnty wpuinGnipyniGabp (wyp nwubphG 20,400.0 20400.0 0
swywinyuwlnn)
wjn pyncd dwiuubiph yepéwiniip” puwn pynigbinwihG wtuutiph
nlnbuwghnwlywl nwuwlwpgiwh hnndwsbbph
Intnwplwynpnipjwl GuwuwnGbp pjnigkihg 2,000.0 2,000.0 X
Uyl GuwuwnGlp pjnigkhg 16,600.0 16,600.0 X
LdhpwnynipyniGitp wyp zwhnyp shbnwwlnnn
YwqiwybpwnipntGGbphG 1,800.0 1,500.0
3100 11 0 IpULULUL PUGPLULENPL 29UUYNN MUINFUSUSPL DNLAGD 14764 8 14764 8 0.0
(nnn3110)
wjn pyncyd”
3110 1 1 17 ywerwdwpnipjwl b hwiwGplbph wwhniunuwhl pnln 14764.80 14764.8 0.0
nphg" 7
sl 1L |33 hwiwGplbph wwhntuwnwhG $nbin . 14,764 .8 14,764.8 0.0
wjn pyncd Swiuubiph yepéwnidp’ puwn pynigbinwhl swiuubph
14,764.8 14,764.8 0.0
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